Economics 1 Answer Topics 
Set 5

Exercise 5.2c 5.3b 5.4a 5.5c 5.7b 5.11c 5.12c 5.13b 14a 15c 5.17a.

Exercise 5.16

a) Q = 900, p = 110.

b) Q = 830, pS = 100, pD = 117. Note that the tax per unit is t = 0.17 x ps. So you can find the equilibrium as usual: pD = ps + t = ps + 0.17ps = 1.17ps.

c) 14110. To draw the graph note that the line ps + t is not parallel to the inverse supply curve (as it would be with a constant tax per unit); apart from that the graph is just as the usual one.

Exercise 5.18

a) Q = 10 thousand, p = 30.
b) 16 – 0.2pd = ps – 20  and  pd = ps + 6.
c) Q = 9 thousand, ps = 29, pd = 35.

d) 54 thousand euros.

e) €9000 by producers, €45000 by consumers.

f) €3000.
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